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Hence the total work done in taking the particle from the surface of earth to infinity can be obtained 
by integrating equation (2) 

 

 

 

 

This work i.e. the energy required to go from the surface of earth to infinity is obtained from the K.E 
supplied to the particle by throwing it. 

Let Ve = Velocity of escape 

K.E supplied  

 

Equating (2) and (3)  

 

 

 

Equation (4) gives the velocity of escape  

 

 

 

 

From (5) and (7) we see that velocity of escape is constant. 

g  = 9.8 m / sec2 

Re = 6400 KM 

Ve = 11.2 KM / sec  
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